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1|Pohotelice A 1 8 1 1 1 1 1 1 15 6
2 [Malenovice A 14 1 3 9 13 3 2 4 49 22
3|Ujezd A 3 15 4 4 7 2 5 21 61 25
4(Oldfichovice 7 7 6 6 3 20 10 12 71 39
5[(Napajedla 4 4 8 19 16 8 4 12 75 40
6[Sarovy - Salag 15 18 5 7 6 5 9 10 75 42
7 |Kvitkovice 9 2 9 23 5 7 12 19 86 44
8[Ludkovice A 13 16 2 2 12 18 25 2 90 47
9(Spytihnév A 11 12 24 3 2 16 18 5 91 49
10(Zlutava 2 9 14 18 8 19 14 7 91 54
11|Louky 16 13 6 5 11 4 16 26 97 55
12|Pohorelice B 12 11 10 12 15 12 8 3 83 56
13|Vitonice 20 3 16 10 22 10 13 9 103 61
14|Spytihnév B 8 5 24 11 19 14 10 25 116 67
15|Prstné 10 19 13 25 18 6 22 6 119 72
16|Lhotka 19 20 19 13 21 11 6 8 117 76
17|Bélov 21 13 15 15 22 26 3 15 130 82
18|Nova Dédina 17 6 24 22 10 15 19 24 137 89
18|Dolni Lhota 21 24 12 27 4 21 7 27 143 89
20(Ujezd B 5 24 20 26 9 23 20 16 143 93
21(Staré Mésto 21 24 17 16 22 9 15 17 141 95
22|Ludkovice B 18 17 22 8 17 22 25 18 147 100
22|Provodov 21 24 24 17 14 13 25 11 149 100
24|Malenovice B 21 24 11 21 22 17 25 27 168 116
25|Ublo 6 24 21 27 22 25 25 27 177 123




26|Lipova 21 24 23 20 20 24 17 23 172 124
27|Rosténi A 21 22 24 14 22 26 25 27 181 128
27|Kyselovice 21 10 24 27 22 26 25 27 182 128
29(Hfivinav Ujezd 21 24 24 27 22 26 25 14 183 130
30|Traplice A 21 24 24 27 22 26 23 20 187 134
31|Ujezd C 21 24 18 27 22 26 25 27 190 136
32|Traplice B 21 24 24 27 22 26 25 22 191 138
32|Nedakonice 21 24 24 27 22 26 21 27 192 138
34(Sele3ovice 21 21 24 27 22 26 25 27 193 139
35|Rosténi B 21 24 24 24 22 26 25 27 193 140
36|Chropyné 21 23 24 27 22 26 25 27 195 141
36|Stary Hrozenkov 21 24 24 27 22 26 24 27 195 141




